MPC-RP7 1KA3 #

w B
B zE D

Hed [2.7m

(@&
& |
B\ | KERE 10°

HERE |27 CREERNT

il

2.7m

SRE,

==l ey

KFEmRE 10°

@ | o | | o | 5

27 CEREBETH

2
S
Eln]

B =
mEEST

THET [2.7m
x|

i
[ |’ 60°
B |20CHREE

| BERESa il

THET [2.7m

SRE,

&
[ | MRE 60°
B |20CHREEH

ESE LY

. [C]

2&
25
23

5

2.0

21

it

rk
=)

o

n
w
[e)]
~
[ee]

4
PRETEERE (M)

. [m/s]

2.0

—>15 \
0.5
=
&1.0
R

N

0 1 2 3 4 5 6 7 8
PREIEERH (M)
- = [C]
L
32
20 \\\\J AN
= \ 24
10 %0
(m) 28 26 2o
28
24 N~
0 26 I
0 1 2 3 4 5 8 7 8
PRENEERE (M)
. [m/s]
\\K
20 \\
20
= 05
=10
(m) \\JL5 10
as\\“—
0 E—
0 1 2 3 5 6 7 8

4
PRETEERE (M)




MPC-RP7 1KA3 #
E B @EXH)
B EES

3.5m

(@
& |
F]

g | FRE 60°

20 CEREEEGE

3.5m

Mz 60°

va)

&

R |ERE
&

B

20 CEREEETLS

—~

08
35 [C]
§
a0 I\
\_/ 24
20 l\ \ \
= \\Jso

o

oI

3

=

26

35

3.0

| 22 —
\/\B 28
. B 26 - —
0 1 3 4 5 5 . .
PREIEERE (M)
[m/s]
\\\N{/as
20
10 1.5 \ 05
N
0 1 2 4 5 . .

PRETZERE(M)



